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Solve the equation 8" = 6. Express your answer in terms of In2 and In3.
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Find the value of each of the following. giving your answer as an integer.
(a) logg36
(b) log4+log,9

(©) logg2-logsl2
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Solve the following system of equations.

log,.,y=2

log,., v =7
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Solve the equation 2—log,(x+7)= lug% 2x.
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Let f(x)=Inx. The graph of f is transformed into the graph of the function g

3
by a translation of ( ] followed by a reflection in the x-axis. Find an expression

for g(x). giving your answer as a single logarithm.
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The graph below shows y = f(x).where f(x)=x+Inx.

(a)  On the graph below. sketch the curve y= f7'(x).

Y

(b)  Find the coordinates of the point of intersection of the graph of y = f(x) and
the graph of y = f7(x).




image10.emf

image1.png
Let g (x)=logs| 2log; x|. Find the product of the zeros of g.
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(a) The graph of y=In(x) is transformed into the graph of y=In(2x+1).
Describe two transformations that are required to do this.
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(2) Wit down the value of

(@) log,27:
- 1
@) logag

(i) logie4.

1
(b)  Hence. solve log, 27 +logy 5 ~logig 4 =log, .




